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vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - I  
juk; - 11 tpQ;Qhdk; - I Gs;spj;jpl;lk; 

gFjp - I 

01) 1 

02) 2 

03) 1 

04) 3 

05) 1 

06) 4 

07) 3 

08) 4 

09) 4 

10) 1 

11) 3 

12) 2 

13) 2 

14) 3 

15) 4 

16) 1 

17) 4 

18) 4 

19) 2 

20) 1 

21) 2 

22) 2 

23) 3 

24) 3 

25) 4 

26) 1 

27) 1 

28) 3 

29) 2 

30) 3 

31) 3 

32) 3 

33) 2 

34) 4 

35) 4 

36) 1 

37) 4 

38) 1 

39) 4 

40) 3

(40 × 1 = 40 Gs;spfs;) 

gFjp - II (A) 

mikg;Gf; fl;Liu tpdhf;fs; 

01) (i) kuk; eLif / kPs tdkhf;fy; 

(ii) thAr; rkepiy Ngzy; / 𝑂2 fpilj;jy; / 𝐶𝑂2 mfj;JwpQ;ry; 𝑒𝑡𝑐. 

(iii) A+d; - 5 

(iv) 𝐶 - rf;fuk; 

(v) xspj;njhFg;G 

(vi) 6 𝐶𝑂2 + 6 𝐻2𝑂   
#upa xsp
gr;irak;

   𝐶6 𝐻12 𝑂6 +  6 𝑂2 

(vii) gpujhd tpisnghus; - FSf;NfhR 

 gf;f tpisnghUs; - 𝑂2 

(viii) Rthrk; 

(ix) 𝐶6 𝐻12 𝑂6 +  6 𝑂2              6 𝐶𝑂2 + 6 𝐻2𝑂 + rf;jp 

(x) ,iokzp 
(10 × 1

1

2
= 15 Gs;spfs;) 

16.10.2021 
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02) (i) 𝑃 - tpyq;Ff; fyk;  

 𝑄 - jhtuf;fyk; 

(ii) nghUj;jkhf Fwpj;jy; 

(iii) nghUj;jkhf Fwpj;jy; 

(iv) ngupa Gd;ntw;wplk; 

(v) fyj;jpd; tPf;f mKf;fj;ijg; Ngzy; 

(vi) 𝑃 𝑄 

 1) fyr;Rtu; ,y;iy fyr;Rtu; cz;L 

 2) gr;iraTU kzp ,y;iy cz;L 

 3) rpwpa Gd;ntw;wplk; ,y;iy cz;L 

(vii) 𝑃, 𝑄 ,y; 

(viii) fyg;gpupT / ,ioAUg; gpupT 

(ix) nry;ld;> Rthd;> Ntu;r;Nrh 

(x) 1) fl;likg;G> njhopw;ghl;bw;Fupa mbg;gil myF fyk; MFk;. 

 2) Kd;gpUe;j fyq;fspy; ,Ue;J Gjpa fyq;fs; Mf;fg;gLfpd;wd. 

 3) vy;yh mq;fpfSk; xd;W my;yJ gy fyq;fshy; Mf;fg;gl;lit. 

(10 × 1
1

2
= 15 Gs;spfs;) 

03) (i) 𝐷 

(ii) 𝐵, 𝐼 (𝑉k; $l;lk;) / 𝐴, 𝐻 (𝐼𝑉k; $l;lk;) 

(iii) 2, 8, 3 

(iv) 𝐸𝐷 

(v) mad;gpizg;G 

(vi)  

 

 

 

 

(vii) 𝐸 - 𝑁𝑎 

 𝐹 - 𝑀𝑔 

 𝐺 - 𝐴𝑙 

 𝐻 - 𝑆𝑖 

 𝐼 - 𝑃 

𝑷 𝑫 

  

  

 

 

 
  

+ 
− 
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(viii) 𝐴 

(ix)  

 

 

 

 

(x) cuha;T ePf;fp / tOf;Fk; ,ay;G 

(10 × 1
1

2
= 15 Gs;spfs;) 

04) (i) cau; mlu;j;jp nfhz;lJ 

(ii) njhupnry;ypapd; ntw;wplk; 

(iii) 𝑃 = ℎ. 𝑝. 𝑔 

(iv) 𝑃 = ℎ. 𝑝. 𝑔 

  =  
70

100
× 13600 × 10 

  = 700 × 136 

  = 95200 𝑃𝑎 

(v) FiwAk; (mKf;fk; Fiwtjhy;) 

(vi) ,urk; Mgj;jhdJ / caukhd ,lq;fSf;F nfhz;L nry;tJ fbdk; 

(vii) jputkpy; ghukhdp 

(viii) 76 𝑐𝑚 𝐻𝑔 

(ix) 
76

100
 × 13600 × 10 = 𝑥 × 1000 × 10 

  𝑥 =   
76

100
 ×

13600 

1000 ×10
 

   = 10.336 𝑚 

(x) kpf ePskhd Foha; Mifahy; ifahs;tJ> thrpg;Gf;fisg; ngWtJ 

fbdk; 

(10 × 1
1

2
= 15 Gs;spfs;) 
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tpQ;Qhdk; - II 

41)  (A)  
(i) ney;  ntl;Lf;fpsp  nrz;gfk;  fOF 

(ii) GilEfup 

(iii) 4 

(iv) ntl;Lf;fpsp 

(v) 2 𝐽 

(5 × 1 = 5 Gs;spfs;) 
(B)  

(i) fhgd; rf;fuk; 

(ii) xspj;njhFg;G 

(iii) 6 𝐶𝑂2 +  6𝐻2𝑂  
#upa xsp
gr;irak;

   𝐶6 𝐻12 𝑂6 + 6𝑂2 

(iv) 𝑏 

(v) Rtl;lhf;fk; 

(vi) gf;uPupah> gq;fR 

(vii) 𝑒 

(viii) Rthrk; 

(ix) 𝐶6 𝐻12 𝑂6 +  6𝑂2  →  6 𝐶𝑂2 +  6𝐻2𝑂 + rf;jp 

(x) G+Nfhsk; ntg;gkiljy;   (10 × 1 = 10 Gs;spfs;) 

(C)  
(1) ePu; mbr;RtL 

(2) fhgd; mbr;RtL 

(3) iky; ngWkhdk; 

(4) kPs;Row;rp 

(5) fpof;fhf 

(5 × 1 = 5 Gs;spfs;) 

42) (A)  

 23
11

𝑃 
35
17

𝑄 2
1

𝑅 

mZ vz; 𝟏𝟏 𝟏𝟕 𝟏 

jpzpntz; 𝟐𝟑 𝟑𝟓 𝟐 

GNuhj;jd; (𝑝) 𝟏𝟏 𝟏𝟕 𝟏 

epA+j;jpud; (𝑛) 𝟏𝟐 𝟏𝟖 𝟏 

,yj;jpud; (𝑒) 𝟏𝟏 𝟏𝟕 𝟏 

,yj;jpud; epiyaikg;G 𝟐, 𝟖, 𝟏 𝟐, 𝟖, 𝟕 𝟏 

$l;lk; 𝐈 VII I 

Mtu;j;jdk; 𝟑 𝟑 𝟏 

tYtsT 𝟏 𝟏 𝟏 
 

(9 × 1 = 9 Gs;spfs;) 

 

(B) 
(i) 𝑃𝑄 

(ii) mad;gpizg;G 
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(iii)  

 

 

 

 

 

(iv) 𝑅, 𝑄 

(v)  (5 × 1 = 5 Gs;spfs;) 

 

(C)  

 𝑄− 𝑆𝑂4
2− 𝑁𝑂3

− 𝑃𝑂4
3− 

𝑃+ 𝑷𝑸 𝑷𝟐 𝑺𝑶𝟒 𝑷 𝑵𝑶𝟑 𝑷𝟑 𝑷𝑶𝟒 

𝑅+ 𝑹𝑸 𝑹𝟐 𝑺𝑶𝟒 𝑹 𝑵𝑶𝟑 𝑹𝟑 𝑷𝑶𝟒 

𝑀𝑔2+ 𝑀𝑔 𝑄2 𝑴𝒈 𝑺𝑶𝟒 𝑴𝒈 (𝑵𝑶𝟑)𝟐 𝑴𝒈𝟑 (𝑷𝑶𝟒)𝟐 
 

(12 ×
1

2
= 6 Gs;spfs;) 

43) (A)  
(1) fyk; 

(2) ,iokzp 

(3) fyr;Rthrk; 

(4) Rthrj;njhFjp 

(5) rkpghl;Lj;njhFjp (5 × 1 = 5 Gs;spfs;) 
 

(B)  
(i)  

(ii)  

(iii)  

(iv)  

(v)   (5 × 1 = 5 Gs;spfs;) 
 

(C)  

mq;fp ,ypq;fKiw ,.ng ,ypq;fkpy;Kiw ,dg;ngUf;fk; 

ty;yhiu   

khkuk;   

kdpjd;   

kPd;fs;   
 

(4 × 1 = 4 Gs;spfs;) 
 
 

𝑅  𝑄 

  

  

 
 

𝑷 𝑸 
 

  

  
  

  

 

 

 

 
 

 
 

 

+ − 
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(D)  

(i) mad;kfue;jr; Nru;f;if 

(ii) G+r;rpfs; / fhw;W / tpyq;Ffs; 

(iii) (a) nfhbj;Njhil - jd;kyl;Lj; jd;ik 

(b) %f;fj;jpg; G+z;L - ,Ufhy Kjpu;T (3 × 2 = 6 Gs;spfs;) 

 

44) (A)  

(i) Mu;KLfy; = 
Ntfkhw;wk;

Neuk;
 

 = 
40−0

5
  = 8 𝑚𝑠−2 

(ii) 40 𝑚𝑠−1 

(iii) 5 nrf;fd; 

(iv) uaupd; G+ Ntiyg;ghL / jLg;Gj; njhFjp 

(v) nrt;tfg; gug;G = ePsk; × mfyk; 

  = 40 × 5  = 200 𝑚 

(vi) mku;KLfy; = 
Ntfkhw;wk;

Neuk;
 

 = 
0−40

5
 

 = 
40

5
=  8 𝑚𝑠−2  

(vii) ce;jk; = jpzpT × Ntiy 

 = 500 × 40 

 = 20000 𝑘𝑔 𝑚𝑠−1 

(viii) ruptpy; gug;G = 
1

2
 × (rkh. gf;. $. njh) × nrq;.cauk; 

  = 
1

2
 × (15 + 5) × 40 

  = 
1

2
 × 20 × 40 

  = 400 𝑚 

(ix) 15 nrf;fd; 

(x) ruhrupf; fjp = 
nkhj;jj; J}uk;

nkhj;j Neuk;
 

  = 
400

15
  =  

80

3
   

  =   26.6 𝑚𝑠−1 (10 × 1 = 10 Gs;spfs;) 
(B)  

(i) .𝐵, 𝐶 

(ii) 15 Ω 
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(iii) 𝐼 =  
𝑉

𝑅
=  

3𝑉

15
=  

1

5
= 0.2 𝐴 

(iv) 𝑃 - 𝐴 khdp 𝑄 - 𝑉 khdp 

(v) mjpfupf;Fk; 

rkhdj;jil Fiwtjhy; (5 × 1 = 5 Gs;spfs;) 

(C)  

 (i)  (ii)  

 

 

 (iii)  (iv)  
 

 

 (v) 

 

 

 

(5 × 1 = 5 Gs;spfs;) 

45) (A)  

(i) FUjpf; Foha;fspD}L kl;Lk; FUjp nrYj;jg;gLtjhy; 

(ii) 𝐴 - tyJ Nrhizaiw  

(iii) 𝐵 - ,lJ Nrhizaiw 

𝐶 - tyJ ,jatiw  

𝐷 - ,lJ ,jatiw 

(iv) ,U$u;thy;T 

(v) 𝐵, 𝐷 

(vi) 𝐸 - Nkw;ngUehsk;  

𝐹 - njhFjpg; ngUehb 

𝐺 - <uy;thapy; ehsk;  

𝐻 - rpWFly; ehb 

(vii) kapu;j;Jisf; Fohapy; njhlq;fp kapu;j;Jisf; Fohapy; KbAk; 

(viii) <uy;thapy; ehsk; 

(ix)  F E 

thy;T ,y;iy thy;T cz;L 

Rtu; jbg;G ↑ Rtu; jbg;G ↓ 

cs;splk; ↓ cs;splk; ↑ 

𝟐𝑭 𝟐𝑭 𝑭 𝑭 
𝑭 𝑭 𝟐𝑭 𝟐𝑭 

𝑭 𝑪 
𝑭 𝑪 
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(x) <uy;   <uy; ehsk;  fPo;g;ngUehsk;  tyJ Nrhizaiw  

tyJ ,jatiw  Rthrg;ig ehb  Rthrg;ig  Rthrg;ig 

ehsk;  ,lJ Nrhizaiw  ,lJ ,jatiw  njhFjpg; 

ngUehb  <uy; ehb  <uy; 

(xi) xl;rprNdw;wg;gl;l FUjpAk; xl;rprd; ,wf;fg;gl;l FUjpAk; fyg;gjhy; 

fisg;G> Nrhu;T Vw;gLk;. (10 × 1 = 10 Gs;spfs;) 

(B)  
(i) tspkz;ly mKf;fk; rkk; 

(ii) 𝑌 jpirapy; 

(iii) Mok; $lf;$l mKf;fk; $Lk; 

(iv) 𝑃 = ℎ. 𝑝. 𝑔 

 = 
10

100
 × 1000 × 10 

 = 1000 𝑃𝑎 

(v) (1) thfdj; jLg;Gfspy; (2) ahf;F (3) cau;j;jp  

(5 × 2 = 10 Gs;spfs;) 


